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Direction : Answer the following questions by selecting the most appropriate option.

v 91. TEFEM AEE F T4 Teiag o

(1) = 39+9g §

(2) FEEva% 39U §
(3) 2r=rg Faug &

(4) F2dEE §

“e2. E fm U T M A gu, A
7 HEgE # & SueEss g
—

a. E'fToQ?fo'{Ta.

b. QﬂoﬁTog@?ﬁ-
c. dlo Zlo FEMHMEN]
d. o dio AEwHT

(1) bTgd (2) atdc
(3) Fadb (4) bTdc

v 93. HH FHCHiicE Hek [BaHE a5 7

(1) F7@EK e
(2) ArFEd dmrd
(3) ATHE dM
(4) TRTEN-TEFR i g

94. ‘FAN ffiE ¥ @ 9Ra @ A9 e
(1) F=-FHifeamare
(2) FrmvEa
(3) Fizor
4) R
Level-2/1212

UPLOAD BY

L
New¥EDIno..

A FATH FOR BRIGHT FUTURE

91. The legend of Satyakam Jabal is
mentioned in :
(1) Jabal Upanishad
(2) Brihadaranyaka Upanishad
(3) Chhandogya Upanishad
(4) Kathopanishad

92. Using the codes given below, identify
the  Vice-President/s of India's

Constituent Assembly :

a. B.N.Rau

b. H. C. Mookerjee

c. V. T.Krishnamachari
d. G.V.Mavalankar

(1) bandd (2) aandc
(3) onlyb (4) bandc
93. The mid-Atlantic ridge is an example
of :
(1) Divergent plate boundary
-(2) Convergent plate boundary
(3) Conservative plate boundary
(4) Continent-Ocean convergénce
boundary

94. 'Kayal' are a distinguished feature of
which of the following coast of Indja 2
(1) Kutch-Kathiawar
(2) Coromandal
(3) Konkan
(4) Malabar

P.T.O.
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95.

97.

~98.

-]

~ 100.

e @ wHaa Od & S @ oy
g:

OB ESLER:|
(3) Hieraar &

(2) oA &
(4) S gdi 9Ra #

(1) = & R &@ar waEy
2) R P AR WA IR
(3) TR F A Twer @ @
(4) X-I¥ & T AfesT 3@

AR HiauE H Gggerae § o 7@
G

(1) T & &g [eE a7 &

(2) FATHRI TSI F i

(3) U9 ud 7H 1 el

(4) IGul HE H RS

AT g9d 99T (A = 9Red, y = o™
Ud s=d9dq) =
(1) Ay/As
(3) As/Ay

(2) yis
4) sly

Frfcie feve 18 &, ‘Agen €0 fed
37

(1) s=g=

) FEY

(3) e

(4) o™

AR ST Fiegwdig AERer & (a8
& & i) orafea ¥ :

(1) gdim &= 4

(2) Fogaa &g &= §

(3) wmsfideT &

4) 3 | P T
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95.

96.

gy.

98.

99.

100.

'"Milpa' is a shifting cultivation practised

in:

(1) Thailand (2) Indonesia

(3) Mexico (4) North East India
If Marginal Rate of Technical

Substitution (MRTS) is constant, then
Production Possibility Curve will be :
(1) downward sloping concave

(2) downward sloping convex

(3) downward sloping straight line

(4) horizontal line parallel to X-axis

Secularism in Indian Constitution does
not include :

(1) No official religion of the state

(2) Doctrine of Benevolent neutrality
(3) Separation of state and religion

(4) Doctrine of Principled Distance
Marginal propensity to save (A =
change, y = Income & s = saving) =

(1) Ay/As () y/s

(3) As/Ay (4) sly

In which of the following river, 'Majuli

river island' is situated ?
(1) Brahmaputra

(2) Kaveri

(3) Chambal

(4) Jhelum

Inter Tropical Convergence Zone
(ITCZ) is located at :

(1) Polar region
(2) Equatorial region
(3) Temperate region
(4) None of-these

i
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, 101.

~ 102.

103.

\104.

105,

Tq AR, S W Y ¥ e 7@
K -

(1) fermar =1 fqoy Az

2) U & e Ay

(3) TG F IMEAR ARER

@) e At

W9 T g% @ ST 20 o iy
geht 15 Bo Ufd ghe & o g,
gEbl A A 25 R @ Ry o

5T @ G A A SRR (R
fafr &m)

(1) 0.88 () 1.0

(3) 1.25 (4) 033
FgwmER fest ot a9

(1) MR a

(2) THE A

(3) FAleH 4

(4) T |

EEIH)
S

3 ¥ apap

Freifed § @ 0 oFg ®Y A UURHS

& TF B 7

(1) iRt a1 feor

(2) =M gRIERiEn

) BESCHIRICHICIES

(4) FeR dfaas

THE A WEHEH, SRR SR
TR & i e e &
O ?

(1) @reg
(2) i
(3) &
(4) iR

Level-2/1212
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101.

102.

103.

104.

105.

[B]

The Gupta temple which is not situated
in Madhya Pradesh :

(1) Vishnu Temple of Tigawa

(2) Shiv Temple of Bhumara

(3) Dashavatara Temple of Deogarh

(4) Bhitargaon Temple ,
When price of a good falls from ¥ 20
per unit to ¥ 15 per unit, its dema.nd
rises by 25 percent. Calculate price
elasticity of demand. (by percentage
method)
(1) 0.88
3) 1.25

2 1.0
(4) 0.33

The Harappan used to procure tin from :
(1) Afghanistan

- (2) Gujarat
"~ (3) Karnataka

(4) Rajasthan

Which one of the following is not
exclusively a federal characteristic ?

(1) Distribution of Power

(2) Judicial review

(3) Bi-Cameralism

~ (4) Rigid Constitution

Samudragupta adopted the policy of
Sarvakardan (pay tribute), Agyakaran
(follow order) and Pranamagaman (bow
to him) with ruler of :

(1) Kamarupa
(2) Kanchi
(3) Vengi
(4) Abhira

P.T.O.
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(106, IRRTIT 9UT @ W e g: 106. Personal Bias is possible under :
(1) afes gfest § (1) Random sampling
(2) glEr uftest § (2) Purposive sampling
(3) w4 foest # (3) Stratified sampling
(4) ERyd gfoest # (4) Systematic sampling
W07, AR BT - 107. Match the following :
TIYISIOrH J=7 fsisar Neolithic Sualient feature
& Site
A. giiélli () IRP FaUREs A. Burzahom (i) Earliest Neolithic Site
B. HETN (i) T & B. Mahagara (ii) Ash Mound
C. SayY (iii) =mae & Sl C. Utnoor (iii) Rice Cultivation
D. &G (iv) Tala D. Mehargarh (iv) Pit Dwelling
& : Code :
(1) A-(iv), B - (ii), C - (iii), D - (i) (1) A-(v), B-(i), C - (iii), D - (i)
(2) A-(i), B - (iv), C - (iii), D - (i) (2) A -(ii), B - (iv), C - (iii), D - (1)
(3) A-(i), B -(ii), C - (iii), D - (iv) (3) A-(i), B - (ii), C - (iii), D - (iv)
(4) A-(iv), B - (iii), C - (ii), D - (i) (4) A-(iv), B - (iii), C - (ii), D - (i)
“108. fHifed H |, TN GHAMAT & GehedA 108. Among the following, what is not
q o 78 ® 7 included in the concept of 'Equality' ?
(1) domes faves (1) Protective Discrimination
(2) GHEgar (2) Homogeneity
(3) Ffrrga it (3) Reasonable classification
(4) 999 SgER (4) Equal opportunity
109. JEREEfy & b & & o - | 109. In order to correct the situation of
. deflation :
(1) Eﬂfi’lf?ﬂ?ﬁ I g uffRr @ (1) Securities are purchased by the
giier S 2 | commercial banks,
(2) e et & gfersgfeat @ e1ae (2) Sccurities arc under possession
AR # @ S ) by the commercial banks,
3) %Eﬁ'q\ a5 a0 aRefEt B el (3) Securities are purchased by the
AT & | central bank.
(4) =1 9% @ oRefodl @ S (4) Securities are sold by the central
ST & bzmk

Level-2/1212
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[23] [B]
C110. RIF, S {0 B SRRE P ¥ 110. The place, where Ashokan inscription
has been found :
(1) I (2) urefergs (1) Ujjain (2) Patliputra
(3) T (4) @i (3) Taxila (4) Sanchi
V111, T GRS WA o (STFW) 111, Marginal revenue of a firm is constant
7 R R el B throughout under ............... %
(1) T S (1) Perfect competition
(2) THIER (2) Monopoly
(3) THIABRIS S ~ (3) Monopolistic competition
| (4) STTRIT (4) Oligopoly
¢ 112, RIS % siee & ger e d 112. The principle source of Indo-Greek "
history is :
(1) s e (1) Buddhist Text
2) R (2) Coins
(3) e (3) Epigraph
@) = m (4) Travelogues kg
113. F=1 7 & =11 777 % ? - 113.  Which of the following is incorrect ?
(1) GDPpp =NDPyp + 7T BE ' (1) GDPwmp = NDPyp + Depreciation
. (2) GNPrc = GNPyp + [& STIHET T (2) - GNPgc = GNPysp + Net indirect taxes
(3) NNPpp=NDPyp + foRaT & uraq 3) NNPMp = NDPyp + Net factor
& AT Y income from abroad
(4) NDPrc = GDPrc— T =1 ; - (4) NDPgc = GDPgc - Depreciation
114. Frfofed. & @ f9-91 ‘{cﬁ“ﬁﬂ aat &N 114. Which of the following Seismic waves
@ & e o & 7 ; are similar to sound waves ?
(1) L&t (2) ST (1) L-waves (2) S-waves
(3) P-ad (4) T-adi (3) P-waves (4) T-waves .
115, 429 e e erffed (1976) @ 115. As a consequence of the 42nd
' Rumaey e §9 9= dfags @l Constitution Amendment Act (1976),
IgafmEr # ofqenfa few g the following three terms were inserted
| in the preamble of the Constitution :
(1) GHEE, qef+Rue], eTEvsd (1) Socialist, Secular, Integrity
(2) GUNIER, TS, AEUST (2) Socialist, Republic, Integrity
(3) UaRUE, wepdite, T9Y (3) Secular, Democratic, Sovereign
(4) Wy, daferaer, ergvedr (4) Sovereign, Secular, Integrity
P.T.O.
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<116.

117.

\118.

118.

. 120.

fasdiga gam W &fEd AFET Femm
5.

(1) TS JHre=

(2) diHics AR

(3) Hifss AR

(4) T AR

3 g=Ed # UEEnNY, S ArEE g
(1) it fsi 3, a8 Torifas &

() i @ X % 9 9%

(3) RR-EET & w9 F fuges

(4) SRT T g A
IG &, (rekiEd T d e
‘qATE 7§ 7

(1) FREvs-

(2) BT

(3) " 5o

(4) @l

e S H A @ OAF A oA ad
gl & ¢

(1) g4

(2) 38

() &<

(4) 9 9 W & 7A

Wl & W # gedi, RFH 1975 @

2000 % d/@ dHdite R e

(1) &g, cRor  opble,  foadem,
ISIClER|

(2) T, Tel, ereaitEn, &

3) R, @, &M, i

(4) e, TM, TS, arefmEr

~Level-2/1212
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116.

117.

118.

119.

120.

The map focus on specific information

is called :

(1) Political map

(2) Thematic map

(3) Physical map

(4) Global map

Identify the terminology, which is not
related to Feminism :

(1) The Personal is the Political

(2) Distinction between Sex and Gender
(3) Patriarchy as a Power Structurc

(4) Willto Power

Which among the following states of
India is not 'land locked' ?

(1) Jharkhand

(2) Chhattisgarh

(3) Madhya Pradesh

(4) Karmnataka

The interest elasticity of demand for
money in liquidity trap is :

(1) Zero

(2) Unity

(3) Infinite

(4) Between zero and one

Identify the group of countries, in which

democratic governments have been

established during 1975 to 2000 :

(1) Russia, South Africa, Vietnam,
Slovakia

(2) Turkey, Laos, Albania, Hungary

(3) Zimbabwe, Spain, Iran, Egypt

(4) Italy, Greece, Poland, Latvia

s
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J21. g1 & G-I A A $iR &R R
¢ Fe H A FE I B =TI T
-1 -1
(v & W) (e o)
(2) ToTd (i) . 1966
(b) FRE"E (i) 1960
(c) =REmm (iii) 2000
(d) fafrend (iv) 1987
(v) 1975
g

(1) (@) - @), (b) - (iii), (¢) - (iv), (d) - (V)
@) @- @, ®)- (i), (¢) - (i), (d) - (v)
() @- (D), (b) - (iii), (c) - (@), (d) - (v}
(4) (a)-(@iv), (b) - (D), (c) - (), (d) - (iiiy

, 122, GF % S SAEAER EEUREE Al g,

TR

(1) TFCTh

(3) AFC @%

Sre T T ©

(1) ofygm & g

(2) @ & Uiz

(3) T @ I

(4) IW A

TR’ qe fean or -

(1) Bt X 3

(2) S AfeRs A

(3) a9 &

(4) T8 THE A

R F ‘T RTTE §
() R () e
(3) it (4) eI

(2) TVC g% |
(4) AVC dh

<~ 123.

124.

125.

Level-2/1212
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[25]
121.

122,

s
NewEdInro.

123.

124.

125.

[B]

Match List-I with List-IT and select the

correct answer by using the codes given

below :
List-1 - List-II
(Name of State)  (Year of Formation)
(a) Gujarat (i) 1966
(b) Jharkhand (i) 1960
(c) Haryana (iii) 2000
(d) Sikkim  (iv) 1987
(v) 1975

Codes :

(1) (@ - (i), (b) - (iid), (©) - @), (&) - V)
) (@ - @), ®)- i), ) - i), (d) - (V)
3) (a)- (i), () - i), () - (), (@) - V)
@ (@)- @), (b) - (i), (©) - (), (d) - iiD)
The cost curve which is a rectangular
hyperbola is :
(1) TFC curve
(3) AFC curve

(2) TVCcurve
(4) AVC curve

'Jet Stream' blows from :
(1) West to East

(2) Eastto West

(3) South to North

(4) North to South

'Megalopolis' term was given by :
(1) Grifith Taylor

(2) Jean Gottman

(3) Von Thunen

(4) Lewis Mumford

The "Entrepot' port for Asia is :

(1) Singapore %(2) Bangkok
(3) Manila (4) Kolkata

P.T.O.
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126. P & § @ SeRE 3 Rer

127. 99 R T & 9 At & R §

[ ]
LBy e g DY)

128.

~ 129,

[26]

FFEYT H 7& 8 7

(1) R @ smes

(2) fradeices gaE

(3) TgHEFAE

(4) TR & R afRepR-g

A FATH FOR BRIGHT FUTURE

@ T g

(3) |we el |

(4) omfire fawar §

Bl T @ TR QR |

Sl T g ¥ 7

(1) derTg

(2) #dleh

(3) g gaeT

@) 3@

TS R A & AR § g

(1) g-Toreg fraiRor d@get wig ovgEr
Tl & arg fear T ey

(2) ¥& TFI-AGT & S-o79 & T4 9
TR B FB @A A ar| fRr T
21

(3) T @ A w ek G-
X feham ST ey

(4) TS T @ TR G 3
o foear ey

Level-2/1212

126.

127.

128.

129.

Among the following, what is not in

conformity with the Idea of Democracy ?
(1) Rule of Law

(2) Periodic Elections

(3) Majoritarianism

(4) Charter of Rights for citizens

In the distribution of subjects between
the Union and the States, Cyber law
belongs to :

(1) Union list

(2) State list

(3) Concurrent list
(4) Residuary subjects

Politics of which state is polarized
along Vokkaliga-Lingayat castes ?

(1) Tamil Nadu
(2) Karnataka

(3) Andhra Pradesh
(4) Kerala

Identify the incorrect statement about

Mahalwari Land Revenue System :

- (1) The land revenue settlement was

done with the entire village or mahal.

(2) It was implemented in Doab area of
Ganga-Yamuna and some parts of
Central India.

(3) The demand of revenue was to
determine periodically.

(4) Mahalwari system was devised by
Alexander Reed.
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130. FRE o T 9D GRS AT @

131.

132.

133.

gRyd g N T
(1) SEE - S J9IE qEs

) o Qafere 9l - o Sho M
(3) EfRtiEe T Ol - HE slREE
4) P Ak 7 - omEE Tix 39

R gEd @ @A TRE 9| wR

Pl TR &

(1) IR IR TR @ & 7A G©
3 ST

(2) RN Rawel & & PmEE

3) FemE Sl $ SRy

(4) Ta@ T - Rawt @i weeeer
AMg 3@ H S [qWeis  (turning

point) o {5 ‘wefzd BREe’ (do wlRmm

F -9 F G B
(1) 24 AT &l Sg9a

(2) Gl B gHAd

ATaeER e o S A giaa B
g7 |

()

(i) T

(iii) ¥ T

(iv) T @R

7ar %E R g :

(1) () (i)

@) G)aary)

() () i)

(4) @), Gi), (iii) e (iv)

Level-2/1212
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130.

131.

132.

[B]

Identify the incorrect pair of political
party and its founder leader :
(1) Jan Sangh — Shyama Prasad

Mukherjee
(2) Praja Socialist Party — N. G. Ranga

(3) Independent Labour Party — Bhim

Rao Ambedkar

(4) Congress Socialist Party — Acharya
Narendra Dev

The theme of Amir Khusrow's work

'Qiran-us-Sadain' is :

(1) Reconciliation meeting
Kaiqubad and Bughra Khan

(2) Military expeditions of Alauddin
Khilaji

(3) Gospels of Nizamuddin Auliya

(4) Deval Rani - Khizra Khan episode

of

The turning point of human history
which is associated with 'Fertile
Crescent' (Part of West Asia) :

(1) Origin of Homo Sapiens
(2) Beginning of Cultivation

¢ on
NEwEDINEQ,, shistanic

A FATH FOR BRIGHT FUTURE
133. What does 'Jat' denote in Mansabdari

system ?

(i) Rank

(i1) Salary

(iii) Military responsibility
(iv) Social Status

Choose the correct code :
(1) (1) & (iii)

2) () & (iv)

(3) () & (i)

(4) (), (i), (iii) & (iv)

P.T.O.
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134.

135.

136,

137.

138.

gt G @ emEeamell ol fy
e admm didl @ sagEEarelt @ T
AT e &
(1) anfees fepra

" (2) TR R

(3) dMIfeT faera

(4) i wghx

S o el e ¥ e
AR & eyt g i gemif

(1) o HAYHR - TECd=Aar @
AR
(2) SATHIT ol QA=A ~ TH-TAA P

By
(3) @Rd gTarE &

PR - Gdeiveg
SUERT & AR
(4) TR & SAHN - G AR
ferer deielt erferamy
e o, S YRd § geme § 78
3T
(1) g, (@reficeen)
(2) o
() TX
4)- T B
ST 2011 % AAR, ARG H 59
G & 8
(1) 753 % (2) 77.1%
(3) 80.9% (4) 88.8%
fadslt MR dar & grErg & Frefiled
¥ d F-0 gaRen ded AE 2 7

(1) T Hge

2) ma’grﬂ
(3) Goft @
(4) I @

Level-2/1212
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134.

135.

136.

137.

138.

To meets the nceds of the present
generation without compromising the
needs of future gencration is called :

(1) Economic Development

(2) Sustainable Devclopment

(3) Social Development

(4) Economic Growth

Identify the incorrect pair of Right and
the related Fundamental Right in the

Indian Constitution :
(1) Right to Education — Right to
Frecdom

(2) Freedom of Conscicnce — Right to
Freedom of Religion
(3) Right to Spcedy Trial — Right to
Constitutional Remedies

(4) Right of Minorities — Cultural and
Educational Right

The food item, which was not introduced
in India during Medieval Period :

(1) Pumpkin

(2) Potato

(3) Tomato

" (4) Red Chilli

According to census 2011, the Male
literacy rate of India is :

(1) 753 % 2) 771 %

(3) 80.9% (4) 88.8 %

Which concept is broadest in Foreign
Trade Accounts ?

(1) Balance of Payment

(2) Balance of Trade

(3) Capital Account

(4) - Current Account

B
NewEDInFo..
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139. Rate of inflation is equal to
JA39. W R at X IR E [A = Price Index]
(4 = AT FEBIH) i 400
G- | 1 4100 (2) 2x
(" e 41\100 @) ) x100 (1) v d 11 D
A A n -4 ? 4 x100 (4) —=—— = 227114100
(3 A«—lAl x100 (4) TxlOO ©) ) 4
140. SRR IE H gy B ¢ 140. The 'Boer’ war is associated with :
(1) R § SufEeEs | (1) Colonialism in Asia
() e H SuaeER q (2) Colonialism in Africa
(3;) Y & 3e™ q (3) European History
(4) go THo Uo & Fcw™ { (4) History of U. S. A.
141. 9G¥ oTRIF GUR FEFA # geem@ | 141, The programme of economic reforms in
& a: India was started on :
(1) 24 38, 1991 (1) 24 July, 1991
(2) 19, 1991 2) 1 July, 1991
(3) 1S=ad, 1991 (3) 1January, 1991
(4) 24 3, 1991 (4) 24 April, 1991
142. “ﬁ[’ﬁﬁ’ J= & @A reenad § " 142. Which of the following comed the term
free @t ot ? ~ 'geography' ?
(1) & (1) Humboldt
(2) TE (2) Aristotle
(3) IR (3) Eratosthenes
(4) = (4) Blache
143. € o “dR3 TRE” § Gaed 8 143. The Saint, which is related to
"Veerashaiva Sect" :
(1) =™ SR (1) Haridas Thakur
(2) ®1% 39 (2) Kanak Das
(3) ST Y (3) Allam Prabhu
(4) ¥R (4) Appar
144. G F GG A AN G B OFW 144. In Indian parliament, the total number
e Bl ® of nominated members are :
55 4). 16 (3) 14 ) 16

Level-2/1212 P.T.0
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145. Frlifea & & 189 sl @1 PRy 145. Which of the following 18th century state
T IO’ T 787 /T S ® 7 is not considered as "Inheritor State" ?
(1) 91y (2) B (1) Awadh (2) Kerala
(3) TR (4) e (3) Hyderabad (4) Bengal

146. SIUAT 2011 & STIER, F SHaE 146. According to census 2011 schedule
aﬂ{iﬁ:ﬂ ST T Haittes gie WA 3 caste to total population is found
fper o9 # 9T T ¥ 7 maximum in which state of India ?
OREESREE (1) Himachal Pradesh
(2) U (2) Punjab
(3) A TR (3) Uttar Pradesh
(4) 9= SR (4) West Bengal

147. A Mear afEfy & gy o - 147. The Dinesh Goswami Committee was

concerned with :
@) St & TGRS qHIT | (1) De-nationalisation of Banks
) Fafe gadta (2) Electoral reforms
3) EL’Gﬁ?lT 4 JURG T HRA & Y (3) Steps to put down insurgency in the
north east

(4) THHT TEET 9 (4) The problem of the chakmas

148. 98 SRET S gAl AR g & 49 148. The condition when the earth is closest
T gl @, dednd 8 to the sun is known as :
(1) ey (2) TER (1) Apogee (2) Apehelion
(3) 39y (4) ITER (3) Perigee (4) Perihelion

149. et HTeT XER Bl B 149. Primary Deficit is equal to :
(1) (ST 9rer - &N & PRH (1) Revenue deficit — interest payment
(2) =T 91T - AR & P (2) Budget deficit — interest payment
(3) ISRIYE HIeT - AN RAGIE] (3) Fiscal deficit — interest payment
(4) Az =T - IR RAGIE (4) Monetary deficit — intefest payment

150. ¥ 2011 &t SFoTT & AR efepst & 150. As per census 2011 (Final Data), the
TR, IO AR H eI © sex ratio in Rural India is :
(1) 926 (2) 949 (1) 926 (2) 949

— () %0 4) 919 (3) 940 (4) 919
NEwEDINFo.
UPLO&D BY A FATH FOR BRIGHT FUTURE
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